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What is research 9 Explain jp getail different types of research.
Explain steps of Rescarch process.

OR
Write short note on structuring the research proposal.

Discuss varioys types of rescarch designs.

Give one key feature of a good research design.

. What is statistical hypothesis ?

‘“Df:ﬁnc Latin square design,

State one key difference between Pure and Applied research.
What are objectives of research ?

What is experimental design ?

Give the difference between primary data and sccondary data.
The information of weckly expenditure (in ?) of 30 students is given below : 7
260, 425, 300, 175, 240, 330, 420, 235, 550, 240, 349, 550, 190, %9, 385

= m,}: v Rt A » » L] »
503, 200, 208, 475, 530, 440, 305, 325, 400, 340, 485, 6, 195, 250,325
Prepare a frequency-distribution of expendiure starting with class 0-100,

100-200 and so on. Also find the percentage of students having their
expenditure less than ¥ 30.

OR
Write the characteristics of an idea] questionnaire. 7
Draw the cumulative curveS of “less than” and “more than” from the
following data : 7
15-20 | 20-25 | 25-30
No. of students 9 4 | 2
| P.T.O.
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(B) Answcrany Four: ' )
(1Y  The number of times an obs¥Y30oON s repeited in the dita is called
(a)  class-interval (h) trequency
(¢} mid-point () upper limit

(2)
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The age of students isa ___——_ Variable

(@) discrete by continuous

() both () none

Which of the following is an eXample of attribute 2

(a) no.of accidents (b)  marks in a subjcct

() skill (d)  height

What is the lower boundary point of the third class ?

’_Class 10-18 20-28 30-38 40-48
| Frequency 2 5 4 3
(@) 285 (b) 305

() 29 d) 19

The stratificd random sampling is used when population is

(@) homogencous (b) hetcrogeneous

(¢) continuous (d) discrete

If out of 720000 people there are 180000 females, the degrees of females
while drawing the pic-chart is GujaratStudy.com
(@ 25 (b) 540000
(¢} 90 (d) 180
Write the merits and demerits of median and mode.

Find the mean and median from the following data and using empirical
formula, Obtain the value of mode : -

Class 0-10110-20 | 20-30 | 3040 | 40-50 | 50-60 60-70
Frequency | 4 16 | 60 | 100 | 40 6 4

(i)  Estimate forx =19,
X 10’11 133 [15117] .20

OR
What is skewness 2 Explain the types of skewness by drawing figures.

Y 16017580 |gs5)9 | 95] 100

2
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4. - (A)
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(1Y The mean age of 4 . Wha

(2

3)
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a S 0.4
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c) -i. * 12
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For open-ended fre T i asull
dispersion, / f‘lqucnc). distributions ——"
(d) Range ®) Mean Jeviation
() Quanile deviation () Varianc¢
ITX=10and 7= 12, whay is the t5p¢ of skewness 7
(a) Negative (b) positive
(©)  Zero (d) Nene of the above o5 then
- . . L ) e
For perfectly correlated varjables if one regression coefficient 1S
the value of another regression coefficient is
(a) 05 (b) |
() 2 (d 025

In a certain factory there are two machines for manufacturing the same
item. The average weight in a sample of 250 items produced by machine A
is found o be 120 gms. with a standard deviation of 12 gms. While the
corresponding figures in a sample of 400 items from machine B arc 124 and
14 respectively. Is the difference between mean weights significant at 1%

level of significance ? 7
Explain paired t test for difference of two means. v
OR
In a college there arc 800 students of which 25 % are i-phone us .
users, 120 had Vodafone nelwogk. 320 students of LhE collcgecﬁ\g‘;:efhonﬁ
other than Vodafone. Tes! 203 % level of significance whether th s an
relation between Phone Company and network they use ? €IC IS any
The production of 3. operators 'and 4 machines is o
whether t@wﬁﬂ”ﬂf@_@nce in ﬂoﬂ‘iﬂiogw‘?n below. Check
0] Machiné A|Machine B|Mach: Mtcm_
perator 2 | sag——une C| Machine D
1| 1540 L %0 | 1560 | y3a0
I 15501 15% | isgp ]|
N T e
P‘.TIO
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(B) Answerany three:

(1) Define Null hy
| of significaice

pmhcsis.

(2) Define leve C
'cone ussumption of t distribution,

Giv
((f)J A random sample .-:;f 5 ?bs_cr,m_"i“”-“ gave variance of 4.8 qnd another
sample of 7 observations gave Vanance of 3.14. Calculate F - ratio.
(5) Whatis Yate's correction ?
TABLE VALUES
[ ar 5 % level 1% tovel |
[ 9 2.262 3.250
[t 10 2.228 3.169
[ F (2,6) 5:{4“ 10.92
|F (3,6) 4.76 9.78
| F 6.2) 19.33 99.33
[F 63 |89 5791
x’ [ 1 3.84 6.64
X’ [2 5.99 9.21
| %2 [ 4 9.49 13.28
[ 22 IE 11.07 15.09
[ 2 |6 12.59 16.81
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